3.3 )1 -3 0 4
2 -2 —4
1 -1 =2 0

=322 +4=(x—-2) (2 -1 -2)

1 -1 -2
-1 2
1 =2 0

?—z—-2=(x+1)(z—2)

=312 +4=(2-2) (2> —1-2) = (2-2) (z+1) (—-2) = (z—2)* (x+1)
(23 =322 +4): ((z—2)(z+ 1)) =2 —2

2) 4 4 -5 -3
4 8 3
48 3 0

4 +422 —52x—3=(r—1)(42°>+8x+3)

4 8 3
-2 =3
4 64 O

422 +8zx4+3=(z+3)(4x+6)

423+ 42?2 =50 —-3=(r—1) (42?2 +8x+3)=(z— 1) (z + 3) (4z +6)
(42 +42°—52-3): ((x—1)(z+3)) =42+6

3) 10 -5 0 4
1 1 -4 4
11 -4 —4] 0

2t =522 +4=(z—-1) (23 + 22 -4z —4)

11 -4 —4
-2 2 4
1 -1 =2 0

P4t —dr—4=(v+2)(2* —x—2)

=5 +d4=(z-1) (P +2?-dr—-4)=(x-1)(z+2)(z* -1 —-2)
(z* =522 +4): (z—1)(z+2) =2 —z —2

Algébre : division polynomiale Corrigé 3.3



